ITI Turner 1st Year Module 10 Special job and Maintenance

(1). What is the name of chuck that hardened steel sleeve having slits cut partly? |

3 TH 1 1 ¢ FoH HoIRGpd WK Id B I foRt gad Wi ol giall 82
(A) Combination chuck | TgIo 9h
(B) Collect chuck | CANMCED

(C) Magnetic chuck | WW
(D) Hydraulic chuck | 6I$§Tf81d> qh

Correct Answer : B

(2). What is marked as "X"? | ”X”%Wﬁ%‘%ﬁﬂ%?

i

(A) Bezel clamp | é@aaﬁu

(B) Stem | IH

(C) Pointer | UV'ISET
(D) Anvil | 3dId

Correct Answer : C




(3). What is the defect shown in the figure? | ﬁaﬁ%@mwaﬁwwév

SURFACE DOTTED
AND STREAKED
WITH METALIC
PARTILER

(A) Grooving | Eﬁ"[
(B) Loading | ST
(C) Glazing | @%FT

(D) Out of round | I3 S T TER

Correct Answer : B

cON N

(4). How the dial test indicator is working? | STId ¢ SfSPhex HY BHTH B 8]

82

(A) Rack and Pinion mechanism | I 3R = AfaeH

(B) Screw thread mechanism | @Q@'aﬁ\_ﬂ

(C) Worm and Worm wheel mechanism | g+ 3R g AT
(D) Half-nut mechanism | W-Wﬁm

Correct Answer : A

(5). Which work holding device of lathe is require to balance for irregular job? |

3Iafid Sl & o e B SHTaadhal HIF 4 SUHIV H gidl g2
(A) Face plate | Y T




(B) Catch plate | FITC
(C) 3Jaw chuck | 3 STdS aTelt I
(D) Four Jaw chuck | 4 SIS dTdll Idh

Correct Answer : A

(6). Where the fatty oil is used? | I8 gad dd T SUTNT HEI (BT ST g2
(A) Automatic lathe | S@aTfCId i

(B) Drilling | TSfeiT

(C) Heavy duty machines | &d1 St e

(D) Turning works | TRIG BRI

Correct Answer : C

(7). What is the name of part marked as 'X'? | X Wﬁl’%ﬂm HAT hT ATH KT

i

(A) Steady hinge | FRR ®ToI

(B) Adjusting screw | THES Ud



(C) Frame | QT

(D) Adjusting pads | TSI B AT US

Correct Answer : D

(8). What is the name of lathe accessory? | TYD L Helh SUD U h[ HTH H]

87

(A) Lathe travelling steady | @Wéﬁﬁ‘m@?ﬁ
(B) Lathe fixed steady | U TR TSI

(C) Three jaw self-centering chuck | GIBREEEIN] 31Id-|—ab‘l?'(d qd

(D) Lathe carrier | Y a")I?QQ

Correct Answer : D

(9). Which lathe accessory is used to hold the previously bored job? | q%ﬁ@
WRTG [T §U BT ! YR R o [T fh s eI SUBRUI BT STANT foh
I 82

(A) Face plate | Y T
(B) Drive plate | SAEH@_C'
(C) Mandrel Ifl%,ff




(D) Catch plate | %@I—d

Correct Answer : C

(10). What is the name of the lubrication method? | WWWWW%?

(A) Qil pump method | 3iraq 4y fafer

(B) Wick feed method | fop wis fafy

(C) Forced feed system | I Bl JurTelt

(D) Splash lubrication system | @WQ@WW

Correct Answer : B

(11). What is the name of the lathe accessory? | NBE < Heldh SUD U] h]
THRE?

%

(A) Lathe mandrel | @Wﬁ%\ﬁ
(B) Driving plate | ?ﬂsﬁmﬁ‘c’



(C) Catch plate | FITC
(D) Lathe center | UGS

Correct Answer : C

(12). What system of feed, Wick feed lubrication is working? | 135‘1—5’, faw wis
fHR 1 DI Tt YUl HTH HR I8! 82

(A) Pressure feed | URR 1S

(B) Gravity feed | TS@THYU IS
(C) Splash feed | AR BIS

(D) Hand feed | 8 BIS

Correct Answer : B

(13). What is the name of the center? | WWWW%?

N
al| NGE .

(A) Pipe center | tﬂng
(B) Swivel v center | Rgdd@ dl g

(C) Revolving center | ‘tzl\J-I:I didl 859'(

(D) Insert type center | ‘ér{-ié UHR B Hg

Correct Answer : B



(14). Which parameter checked given figure? | g TR ef%QTI'Q &mﬁ
SIEKE

(A) Parallelism | JHIAI
(B) Squareness | JBR
(C) Roundness | ‘il(_'ilé

(D) Flatness | HJICI

Correct Answer : C

(15). What is the name of lathe accessory? | WU & 39 U IUHRU] BT ATH

(A) Four jaw independent chuck | dIR SIes aIdi W a9

(B) Three jaw self-centering chuck | H SIS ATl 3TH-hisd I



(C) Face plate | HI e
(D) Lathe mandrel | @Wﬁ%ﬁ

Correct Answer : A

(16). Which is the cause of small particles of the material become embedded in

the space between the grains of the grinding wheel? | ‘;Ils'lg"l %ﬂﬁ% AT H
HUN &b T GE D HUN b Y o D] Had g2

(A) Glazing | TTSHT
(B) Loading | SIS
(C) Grooving | AT
(D) Dressing | ST

Correct Answer : B

(17). What is the name of chuck? | WWWW%?

(A) Push - out chuck | YRT- 33 dh

(B) Magnetic chuck | WW

(C) Air- operated chuck | HTQW'%HW
(D) Draw in chuck " | ST ddh

Correct Answer : B



(18). Which parameter can be measured by using dial test indicator? | SIUd] GRS

$TEH R BT IUUNT B b URTHICR b1 HIUT ST Hebell &2
(A) Diameter and Radius | T 3R B

(B) Length and Width | T*ng GﬁT?ﬁ?ﬂg

(C) Parallelism and Concentricity | THIdRdT @TW@?HT
(D) Angularity and Taper | CAIER] G'ﬁTQ'I@

Correct Answer : C

(19). What is the mandrel shown in the figure? | Wﬁﬁmwlﬁzﬂw
&

— I IV A |-

(A) Gang mandrel | TNTHSA
(B) Cone mandrel | I Hed
(C) Stepped mandrel | ¥WS Hgd
(D) Solid mandrel | 31 Hgd

Correct Answer : A

I"ﬁ“‘r'I
I
]
Il
LI

(20). What is the name of the lathe centre? | WXIq 859'( D[ [MH ] %?

(A) Ball centre | g e



(B) Half centre | 3T G
(C) Pipe centre | Uy &g
(D) Tipped centre | $TIQ'II%{3°f G oY

Correct Answer : C

(21). Which mechanism is used for converting linear motion into rotary motion in
plunger dial gauge? | WSk S ol | GaE mm%vﬁﬁqpﬁvﬁrﬁ
gRafdd HRdl g2

(A) Rack and scroll mechanism | RQGI‘J GﬁT Thid A
(B) Scroll and pinion mechanism | whid 3R g a1
(C) Rack and pinion mechanism | Y 3R = o=

(D) Lever and scroll mechanism | AR GﬁT Thid da

Correct Answer : C

(22). What type of defect occur by pressure being applied one position of the

grinding wheel? | m@ﬁaﬁw@ﬁmmmﬁ@rmwwm
JTA BT R?

(A) Glazing | TAfSAT
(B) Out of round | 38 I dTER
(C) Grooving | Zﬁ'ﬂ
(D) Loading | NS

Correct Answer : C




(23). What is marked as "X"? | ”X"%Wﬁ%‘%ﬁﬂ%?

(A) Component | Addd

(B) Dial test indicator | Wéﬁm
(C) Surface plate | WHY Wie

(D) Stem | WH

Correct Answer : B

(24). What term indicate actual size of the abrasive grain? | fg -‘ZIGC'(IdQ'InI & 1IN

3UHYes & AR 1S9l Pl I 3T STl 52
(A) Structure | AT

(B) Grit size | ﬁ?w

(C) Grade of bond | FYBITS

(D) Abrasive type | 3TN D BT UHR

Correct Answer : B



(25). What is the operation shown in the figure? | ICEE:| Ié@lé T Sfpar Hi
drg?

c -|

ecking squarness of bus Irdvli\{dlﬁ\ﬂ\rddﬂ"ll
(A) Check fbush | g HI T

(B) Checking parallels of bush | JHAIARAI P Sl BT
(C) Checking diameter of bush | @WWW
(D) Testing concentricity of bush | @Tﬁwquﬁ&mm

Correct Answer : D

(26). Which type of centre is used in the end of the job if no counter sink hole is
permitted? | AT fordlt ®T3ex R I &1 3rfHd a1 § dl Siid & ¢S H fpy
TR & e BT YT T oIl g2

(A) Insert type centre | sﬂHé clgu T
(B) Revolving centre | Ralfedm dex

(C) Female centre | HiHd dex

(D) Ball centre | gid g

Correct Answer : C

(27). What is "P" in the specification of grinding wheel A16 P5VBE? | ‘Jlls'lg"l

RITA16P5VBE® ARSI T "p" T &2



(A) Abrasive | U EH
(B) Structure | AT
(C) Grade of bond | ST PIUS

(D) Grain size | LKA AR

Correct Answer : C

(28). What is the symbol indicates daily lubrication? | ?‘;I o) Q;|6'1 D[ Ydlh H] %?
(B) :
(C)

(D)

Correct Answer : B

(29). Which centre is used to support hollows end jobs? | Eﬁ?ﬁ@ﬁ&qﬁw
A & e forg g 1 U foan ST 82



(A) Ball centre | S e

(B) Pipe centre | ms’tr@a

(C) Femalecentre | HiHd dex
(D) Tipped centre | fems dex

Correct Answer : B

(30). Which lathe carrier engaged into the ‘U’-slot of the catch plate and drive the
workpiece? | I U1 BRIG Al &d Wi & 'U'-TIC H ST oMl § 3R Jhug
oI IAAT 82

(A) Straight tail | %< ¢d

(B) Bent tail | ¢ cd

(C) Clamp type | I YR

(D) Safety clamp type | {R&HH@UW

Correct Answer : B

(31). Which type of mandrel is used to hold workpiece that have blind holes? |

K5 S B dTal gh U P 8Ics B & (oL [ UHR & HId &bl SUTNT fowa
I 82

(A) Cone mandrel | Wﬁgﬂ

(B) Stepped mandrel | @T»a_ﬁ"agﬂ

(C) Threaded stud mandrel | Q@ER_S"E@T'[
(D) Gang mandrel | ?FT'E@T‘[

Correct Answer : C




(32). What is the name of the center? | WWWW%??

T RN
Ay O o

LTy
R EEY] L Pt
k|

W
A,
=

(A) Insert type | WWW
(B) Self driveling | gferd
(C) Tipped center | feus &g

(D) Micro set adjustable | Hl‘éd;l Ie gH™NY

Correct Answer : D

(33). What is marked as "X"? | ”X"%Wﬁﬁ"%ﬁﬂ%?

T A L AT, Y T N LT W LT R, R
Wt NS R ',,‘,.f 4

&5

o o
WF Wi
E e = A

C o
B T o A W T e E NN

(A) Lever | AR
(B) Stylus | ¥cIgceld

(C) Pointer | UUEET
(D) Return spring | e f&

Correct Answer : D



(34). What is the schedule of lubrication for lathe bed? | @Wé@'%@%ﬁﬁ

HRIHH gl 8?2

(A) Daily | &

(B) Weekly | HT&iligeh
(C) Monthly | HTRIH
(D) Frequently | SR §R

Correct Answer : A

(35). What is the name of part marked as ‘X’ in plunger type dial test indicator? |
oR UHR & S R Yad & X gRT afgd U &I 11 F1 82

(A) Bezel | Soid
(B) Anvil | 8T8
(C) Stem | @
(D) Plunger | WS

Correct Answer : D



(36). What is the name of lubrication method? | WWWWW%?

[ ees] M’Gﬁ
SRR F

L
RLRRRRRRT W RN

(A) Oil pump | 3TTA Ug

(B) Force feed | thﬁ?fﬂﬂ's’

(C) Gravity feed | DICERES

(D) Splash lubrication | ?@QT@_EFT

Correct Answer : D

(37). Which wheel is used for grinding tough materials? | Eﬂﬂgmﬁmﬁf
& fore S It i TN &1 Sl 82

(A) Silicon carbide | ﬁlﬁm"qmﬁg

(B) Aluminium oxide | G@ﬁmﬂm
(C) Cemented carbide | HIdd d)IGIT‘éS

(D) Ceramic | e

Correct Answer : B

(38). What is the taper ratio of solid mandrel? | magﬂﬁé’lﬂ WW%’?
(A) 1:30

(B) 1:40

(C) 1:100



(D) 1:2000

Correct Answer : D

(39). Which mandrel is manufactured in order to reduce the number of mandrel?

| DI O d, Al & WS HH IT- & I J T SIIelt 87
(A) Threaded mandrel | 115“IQN J:I"\%Q’i

(B) Stepped mandrel | mﬁ%ﬁ
(C) Solid mandrel | mﬁ%ﬁ

(D) Gang mandrel | ﬁ"TfI%A?T

Correct Answer : B

(40). What is the name of lathe accessory? | WY & 39 U0 IUHRU] B ATH

(A) Driving plate | ST3fdi wic
(B) Lathe center | AU g
(C) Catch plate | HT WT
(D) Face plate | BH &I

Correct Answer : D



(41). Which is used in grinding wheels to hold the abrasive particle together? |

UsRig i o1 U Tq1 &+ & forw UrEfen e | forgest Iua fosar
CIGIGE

(A) Grain |‘j7'f
(B) Grit | fre
(C) Structure | XTI

(D) Bond | 9

Correct Answer : D

(42). Which chuck is mainly used for getting a very effective grip over the job? |

DI W TH BT B FW YHIA! Uh S §-1 a4 P o TanT ot Sireht 87
(A) Push - out chucks | YRT - 3T3C dh
(B) Collect chuck | CANMCED

(C) Magnetic chuck | WW
(D) Hydraulic chuck | 6I$§\I'I’510b gD

Correct Answer : D



(43). What is the name of the lathe accessory? | @Y & 39 TgTIH JUBUT BT

(A) Face plate | Y T

(B) Lathe mandrel | @Wﬁ%ﬁ

(C) Three jaw self-centering chuck | o STers arait W—WW
(D) Catch plate | %@I—d

Correct Answer : C

(44). Which chuck is function both 3-Jaw and 4-Jaw chuck? | P At I 3-9I 3R
4-S1 9% GIHI BT Bl g2

(A) Collet chuck | Pifclc Ib

(B) Combination chuck | BT IH

R aN

(C) Hydraulic chuck | gIggllcddd ddh
(D) Magnetic chuck | ﬁ'ﬂﬁ%%

Correct Answer : B



(45). What is the name of lathe centre, which is used while facing the job with out

disturbing the setting? | TRIE &g T TH &1 g, for g1 IuanT AfeTT & Teast
& 1Y b BT G HRd I fb T S1ar 22

(A) Ball centre | CINER
(B) Half centre | AMMYThHg
(C) Pipe centre | TT8U &%
(D) Tipped centre | $TIQ'II%{3°f G oY

Correct Answer : B

(46). What is the name of the lubrication method? | WWWWW%’”

(A) Oil cup | 3ad HU
(B) Wick feed |ﬁ$tfﬁ—5'

(C) Splash lubrication | @W@W
(D) Manual screw down greaser | ﬁﬂ\}lﬂ@ 3 YRR

Correct Answer : A



(47). Which bonding material is not affected by water, acid or normal

temperature? | I Tl SYb AU oid, TRIS Td I d1Y A UHTAd 81 gidl
?

(A) Vitrified | facItTRS
(B) Retinoid Iﬁ:ﬁ_ﬁ_&'
(C) Backlit | ShaTRC
(D) Rubber | Y&}

Correct Answer : A

(48). What is the representation of below lubrication symbol? | :ﬂ%%QTI'Q@_EFT
Tl BT Ufaffda F1 g2

(A) Daily lubrication | &f e &g
(B) Weekly lubrication | TT&ITfedh Tg
(C) Monthly lubrication | HTFI® WgH

(D) Scheduled lubrication | 3FTAfId B8

Correct Answer : B

(49). What is the material to hold the abrasive particles together in a grinding

wheel? | T U1 BTd H 3TN b HUT 1 Teb 1Y T b T i R g2
(A) Grade | DE)
(B) Guide | TTS8S



(C) Bond | CIES)

(D) Grain | ‘Blg_"f

Correct Answer : C

(50). What type of taper provided on the shank of lathe center? | ?WWﬁW
H AU MU TR FHT SR 82

(A) Jaron | S

(B) Morse | A

(C) Metric | Hifddh

(D) Brown& sharp | ST 3R T4

Correct Answer : B



